PR RARL104F EERRAA RSB A KA
AR | AR

% PR 78 x| BEugs | AU
165 TR @it At A 2B L3 VBRI R o ¥ =
KERRBALELEN  FRAARTHS -
BEEB40%
1. gﬁgﬁgT » SO0 T 2 IEERF ] R FRIZ/E? A)S.745 > BYAE » C)2.8f% »

2. HFREZ > 1E90°C R 753torrll » BERE Ry 1.585g/L o Al s 2 BEH/E B 5 A)48 » B)24 »
C)96 » D)60 g/mol

3. EEHEBKAVEALR () '8 ERIERA)—4 » B)YZ4 » O)=4 » D)IULRJE -

4. AT LLE B B FERAE K BIK A0SR IR RS - RI7E B E A E R
BIK > GREMEREEE ? AVEEEIE > B)yR{E - OBlK— -

5. FreEHVERSEH - B RAERNE ? AZIE > BEIHE  OBF I -

6.  Which compound in liquid form will have the highest vapor pressure?
A)CH; B)CH;CH; C)CH;C(O)CH;,4 D) CH;CH;0H

7. Which noble gas has the highest boiling point?
A)He B)Ne C)Ar D)Kr E)Xe

8.  Which molecule below has hydrogen bonding?
A)CH, B)HCI C)H,SO, D)CH;H,0H

9. Calculate the molarity of a KCI solution prepared by dissolving 0.525 moles of KCl in 250

mL.

A)0.476  B)0.00210 C)2.10 D)2.02
10. Which of the following compounds is an alkene?

A) CHq B)CHg  C)C4Hg D) CsHy,
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5. We have the following reaction at equilibrium in a flask,
CaSOy(s) = Ca*'(aq) + SO (aq)
What will happen to [Ca®"] if additional CaSOy is added to the flask?

6. What is Global Warming?
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